
SPAESCORT™ 
  CLASSIC LIFT  #7810 

Couplers (4)C

PARTS LIST:

Upper Corner Arms (2)  
(w/Foam Handles) 

A

Lower Corner Arms (2) B
Mounting Brackets (3)  

Security Chains (2)  D

Chain Brackets (2)  E

F

#8 x 1-1/4” Wood Screws (12)

#10 x 5/8” Self Tapping Screws (32)

#8 x 5/8” Wood Screws (6)

Beauty Caps (32)

I

J

K

G

BEFORE YOU START: 
Put the SPA COVER properly in position on the spa 
in the closed position. The COVER LIFT will be 
mounted in the rear of the spa in the same direc-
tion as the cover hinge. 

STEP 2  
Next, insert another COUPLER (C) into the 
long side of the UPPER CORNER ARMS (A), 
then join the UPPER section to the lower sec-
tion using the remaining two side COUPLERS 
(C). Figure 3.  Do not attach any of the tubing 
together with screws yet. 

STEP 1  
Insert one COUPLER (C) into a MOUNTING 
BRACKET (F) and center. Insert the long end 
of the LOWER CORNER ARMS (B) into the 
outer two MOUNTING BRACKETS (F) and con-
nect into the COUPLER (Figure 1).  
Do not attach any of the tubing together with 
screws yet.   
Space the MOUNTING BRACKETS (F) evenly 
across the width of the flat section of the spa 
cabinet. Do not install on the curve of the 
corners (Figure 2).  
Using the #8 x 1-1/4"  SCREWS (I), attach the 
three MOUNTING BRACKETS (F) to the back 
side of the spa.  
It is recommended that you pre-drill the holes with a 
1/16" drill bit.  

MOUNTING BRACKETS 

COVER HINGE

I
SCREWS

I
SCREWS

I
SCREWS

F

F F F

C

C
C

C

AA  •  •  • •  •  •

 •
  •

  •

 •
  •

  •

BB

C  •  •  • •  •  •

 •    •    •

 •    •    •

 •    •    •

 •    •    •

 •
   

 •
   

 •

 •
   

 •
   

 •

 •
   

 •
   

 •

 •
   

 •
   

 •

 •
  •

  •

 •
  •

  • FIGURE 1

FIGURE 3

FIGURE 2

 •  •  •

 •
  •

  •

B

 •  •  •

 •
  •

  •

B



©2025 Essentials - Cumming, GA 30041

Essentials is an industry leader in spa accessory and maintenance products.  
To view our complete product offering, visit us at Essentials-SpaSupplies.com. All items can be ordered through your local retailer.

STEP 3  
With the upper section of the COVER LIFT 
laying on the spa cover, adjust and center 
the COUPLER and UPPER CORNER ARMS so 
that the Top Center Bar is lying parallel to the 
spa cover hinge about 1/2" behind the 
cover hinge (Figure 4). The width of the 
Cover Lift should extend 1-1/2” on each 
side.  
Position the side COUPLERS in the center of 
the Upper and Lower Corner Arms and at-
tach with the #10 self-tapping SCREWS (J). 
Insert one SCREW (J) into the tubing on each 
side of the end MOUNTING BRACKETS to pre-
vent the Cover Lift from shifting.   
 
STEP 4  
After fully inserting all SCREWS, move the 
Cover Lift to the upright and vertical posi-
tion. Position the end of the Security Chain 
on the side ARM as shown in Figure 5. Attach 
using (1) #10 self-tapping screw (J).  Using 
three #8 x 5/8" WOOD SCREWS (K), attach 
the CHAIN BRACKET (E) to the spa, then 
using a #10 SCREW (J), attach the end of 
the chain to the center of the Chain Bracket 
so that it is in a horizontal, Ievel position. 
Note: Make sure the CHAIN position allows the 
COVER LIFT to open slightly MORE than vertical. 
 

STEP 5  
Snap the black plastic BEAUTY CAPS (G) 
over all exposed screw heads. Attach the 
TOWEL HOLDER (H) on the preferred side of 
the COVER LIFT by simply snapping it into 
place and securing with a #10 self-tapping 
SCREW (J). Figure 6.  

The top center bar should be 1/2”  
BEHIND the hinge in spa cover. 

The width of the Cover Lift should extend  
1-1/2” beyond the cover on EACH side.

C
ha

in
 s

ho
ul

d
 b

e
 p

o
si

tio
ne

d
 to

 a
llo

w
 th

e
 li

ft 
to

 o
p

e
n 

 
sl

ig
ht

ly
 m

o
re

 th
a

n 
ve

rti
c

a
l. 

Make sure the pilot holes are facing the rear of the spa so the 
screw heads don’t make contact with the vinyl cover. 

Note: Couplers should be centered equally before attaching.

JInsert SCREW      on each side of 
MOUNTING BRACKETS to prevent 
the lift from shifting side-to-side.

TO OPEN: Flip your spa cover back over the center support bar. Hold the top corner of the COVER LIFT by the 
foam handle and lift the bar towards the back of the spa until the spa cover is hanging in a slightly over-vertical 
position.  
 
TO CLOSE:  Holding the Foam Handle, pull down towards the middle of the spa. Once the spa cover is lying on 
the spa, flip the cover to close it completely over the spa.  
 
DO NOT USE the Cover Lift in high wind conditions. Injury from the spa cover being blown closed could impact 
the spa user. DO NOT leave the Cover Lift open when not in use. 

FIGURE 4
C

CC

C
B

 •  •  •  •  •  •

 •
  •

  •

 •
  •

  •

 •
  •

  •

B

AA

J

E

(1) SCREW

K(3) SCREWS

 •
  •

  •

 •  •  • •  •  •

OOOOOOOOOOOOOOOOOOOOO

FIGURE 5

FIGURE 6

OOOOOOOOOOOOOOOOOOOOOOO

H


